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Tnstuuctivns - Each Question carries 1 mark. No negative marxs, ues this Question paper with your team.
1. DEr S B Bortstats SL67 5.P, Q, R 63 & mibed timsom 9% Swd, 68
Whoia credited as the Father of Coordinate Geometry? eE B0rnod A B0, o Foyd P irmdd Sendd
o ‘ Q % 282D R i oord S8d%on dond O
TS e b XN aBdto 0N Hotood?

T 8
) /\rya‘l“)‘l'i:'ilta_@ggéﬁ%a &) Euciid cﬁ?ﬁé& ()
2. ©8Ss o8 Edrg0EBh S HBE° Qobod. o %&
B B $od AEHIJHE BVPorr Thob. ©lptd
Eod O AFo IS 585 SEH B Srikod?
Ananya has filled a communicating vessel with
a liquid as shown in the picure. Then she tilted
the vessel to the left by putting a block under
its right end. Which of the following options does
sxhow the correct liquid leyvels in the Vessel ?

Q) 9) %) &)

8. H,PO, G eolcirSi iHhooSos.
ldentlfy the anion of H_PO,
Q) PO 8) POﬁ ) POf‘

4. PHES 63 wfocse 2a?

Which of the following is a Plasting-Consuming Bacteria?

) weest 26 Azotobacter

8) S©FIroeS Nitrosomonas

®) F&4Jex Salmonella

&) PO ()

ﬂwrte tumblers P Q and R were filled with equal
volumes of salt water and the tumbler, P was
cooled whereas tumbler Q was heated. Now, which
salt water does taste most salty?

Q)P 2)Q
MR &)All will taste the same ()
6. 5 Both 84od® HE JH N R

Todo e & JH
Fodo 28 Foixod Jothn?
Why is our right kidney
slightly lower in position
than the left kidney?
) A FH SrBoKo HAJH wrdEols oxsa
lett kidney is bigger than right
) 1908 KeluHDD Yoot elEdosto Sod
considerable space occupied by the heart
B) s*BahEn KelahDi Fooh HEBHS eEdosito HoB
considerable space occupied by the liver on the right side
&) BEJH SrBhotio IEHFH wIEoB BEB
right kidney is bigger than the left «C )
- DRHEN 110 aRPKS 5y ?’..»?6?3868 AoErR8 5980 Jnd?
Why is an Iron rod solid at room temperature?
@) 3D é&))é ?86@:6 YSPOPRY), HOXTER) EOA Hotwod.
: It has definite shape and volume
- D) 3% (BDFSS SIS Kb 8N STy e ©h%0 29I
* Its melting point is higher than the room temberature.
D) I 0¥ FDE FoBds EOA dotito
It has high relative density
&) 2D eai»  All of the above ( )
. $08 DbY BEPS d>bnd o Soify 8rD? W ‘g’ ‘W P
Which of the following fruits is more 1 .
advised to avoid bleeding of gums? |
@) T*Boes Orange  8) Srd& Mango
®) ©88 Banana &) $8% Jack fruit ()
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) K838 (Hre0 B aahes BBKL
Pregném mother having come out during eclipse time|
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Why does light travel in

straight-linein a given medium?.

D) 5208 SRED TrH506° BarESoSKoh SHD
Because Light alone can travel in vacuum

8) 5,08 855h SBorrenre (BErE08 253
Because Light travels as a Transverse Wave N

R) 5708 ¥, Ebol Fgrso BoBod EOAS0L0E 5T

S Bl

Because Light behaves both as particulate and wave| -

8) 5208 O ISESBS Fesisod IS IKos®

BTS00 5255

Because Light travels with the fastest possible speed

in any given medium «C )
2d%e r8EE Lo Na2chSodonr
SoBSPR -3 TTe Soth
&8 &N BoDS RNSTMSS
 (HS0e @@5§ o) EPE?
India’s recently succesfully
landed lander Chandrayan-3
onthe South pole of the moon after
whom is the Lander of
Chadrayaan-3 named ?
Q) IR oSS

Satish Dhawan
%) @92%35 BerSH &) U.R. oo

Abdul Kalam U.R. Rao ( )

e QBE® BIPHVE ¥8 ErBEnSt ABRPHBED
O HBoSod? Which among the following is
a form of energy?

Q) IBesDB Water Vapour 8) erozn Bomb

i)

£) DES Foeerdn
Vikram Sarabhai

%) g Battery &) 258 All of the above (= )|
HBciros® %% Siaho 3.16 aHHPH o0 DS

2SS’ $cdho Jos?
When the actual time in a clock is 3.15 how much
time does its mirror image show apparently?
@) 9.45 8) 8.45

) 6.15 &) 3.15 | C
(P00 So08 zohch w80 HB?

16.

L7t

Cleft-Lip and Palete in babies is due to
@) ($Seee0 B d&Eo £
Birth on eclipse day
0) 20&°8)8 546° 267 &80
Embryological disorder during pregnancy R
R) SoFFEoss0re SoEosto i
Acquiring by hereditary
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. o3 TH8 050l St HToes?

. 589 8 D8S Taho ol HA? « )

We canrecyclewaterby.......

D) 2hen 8883 IBY Sows asBrAOSEo.
Reusing the water from washing clothes to cook

D) T80 Sypod sensets ssoto

_ Discharging factory waste in to canals

- 5) Bt D8 BB H§gmed HBnEos'E St

Discharging sewage and waste materials in to oceans
&) ahen 6883 I8 o3 $HeS® oo

Re use the water from washing clothes to flush, toilets
SO ) FRad o Dod?
What is the Botanical name N
of Coconut?
Q) &R FPopo Ocimum sanctum
8) ©dHo 380 Allium sativum
%) %8 Soms o Cocos nucifera o2 AL
&) E%% BB Crocus Sativus, « )
& (Bod TBY m55508? Match thefollowing

P) ¥ $8&me08 Mono atomic ; I.T‘C?ogjé .'Sulphur

Q) &g HB8Sreea08 Di atomic ] 2&&33&03@ Inert gas
R) (& $8&ee08 Tri atomic 3.e8ya1S Oxygen

S) ©f 8&rms Octatomic ' 4.8&85 Ozone

) P-3,Q2,R4,S-1  9) P2,Q3 R4,S-]

®) P-2,Q-3,R-1,S4 &) P-3,Q4, R2,S-1 ( )
&8 SPOY Q¥ $ored T Pren Bots Srdurron.
6 Q SrHHE) S0grl8 St éé&éomséa EiPokm
Three Different positions of a dice are given below.
What number is on the face opposite to (6)

D2 B w4 -85 (
Oep et @808, 0 HET . T geSy o

)

Aanand is Rekha’s brother and Rekha is
daughter of Latha. Latha is Vasu’s wife. What
is the relation between Vasu and Aanand,
®) $ol& Father 8) W Brother

%) @& Grand Father &) S5 Uncle « )
22, 1.732, 4,17, ety 08%e (g006° (RSHpL
S0S° BoiisS® $T) Homg O&?

)Nhlch of the following is the middle number in

"the series, 2 ,1.732, 4,17 16 . When written in

(a+b) = 12 B0ty a2-b? = -24 ©ond (a-b) Do Jod?| ' . o iR
- - an:ascending order ?
If (a+b) =12 and a% b2= -24 then the value of (a-b)is... | - a)17 S
-2 D)2 B)144. &) 36 ( 4
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L. eJZ83e8 ? Match the following

P) edo> 3¢y Prop roots 1. =*0& Vanda

Q) &3 3¢ Stilt roots 2. %06 Banyan

R) &c2883¢ Parasitic roots 3. 38% Sugarcane
S) 25288 3ty) Epiphytic roots 4. gme Cuscuta
@) P-2,Q-3, R4, S-1 &) P-2,Q4, R-1,S-3

) P-3,Q-2, R4, §-1 &) P4,Q-1, R-3,S5-2 ( )
STRE’ LoD ondEss 480%rr wwdGH Sioto
ol $H8ek SrSSESLRs, B EGrostos®
X)aéé&" RS0t 2023 $o5HTPR8 (Hdel SBS 08
aaﬁwa’;\:@ FoBS ST°R DY AHH?

Who was the lran activist awarded Nobel Peace Prize -

2023 for her relentless fight against the oppression of
womenin lran and her un waviring commitmentto

promoting human rights and freedom'?

22.

8) Narges Mohammad1
26"c(:$(o E&n&é)&&

o) Malala yousafzal
- Soere ahrdPerdDd

&) Hajer Sharlef
Sresb 30D )

Q) saaldar ‘
QTS E6

23. Hogrss o Gnd), ) ot [Hairdod SEFSI|.

3obS =Pod B ;S;mdo Qer Hotwod?
What is the path of a refracted light ray that
passes through the focus of the convex lens?
@) @ma%oé Jrosbornr Hotnob.
Wlll emerge parallel to the prmmple ax1s
&) @mméoé ©0DOIP Hotnod.
Will emerge perpendlcular to the prmmple axis.
2) Borargo8 45° Eeo8® (1558300,
Will emerge at an angle of 45° to the principle axis
&) 3)55@?60 Bolote (HH0KQ0b.
will cmerge undeviated ‘ ( )
24, éS"a’Joa@& S5 m{;"ém a&ﬁ’z@és Both Btyerre
oL é”pi;o Qod “Stnod? errorl-"’@*
How much is the angle between -
the two plane mirrors used in a regular
Periscope, shown in the picture? A4

D) 45° ®) 90° ez

25. 36 adl thoosal.
- ldentify the mis s matched pair

P) 2636560‘5? =) B JT°DOV &%

Q) Borhy = ol DBS &5

Dengue => Female Aedes mosquito /8

D) P &(&3b. P Only 9) Q D, Q Only

%) P&Q 3o P,Q Both mis matched

&) None of P and Q is mismatched « )
26. %z0 ) BoLIE’ ©F HF §905 gwom@;amw

Which organelle of a plant cell ‘kitchen of the Cell’ ?
D) B&*&*S Ribosome ) Zo&%o Nucleus
%) $eB&0e0d) Chloroplast

&) Destaro@air Mitochondria ( )
27. I Il H85%wm Bols O Hotif)os® Vibios?
Inwhich ofthe following cases does the absorption of
water through rootsincreasein plants” o
Q) d5&® 6008 i
When kept in a shade
D) 0% ISt eodIDE
- When kept in a dim light
) @355 ™0 808 §oAIDD
When kept under a running ceiling fan
&) FOHS az‘gﬁés 2y &oSso o0 EMENEERENe T
When kept in a polythene bag and sealed  ( )
|28, & Bod QE° Sy Sygo A 28?7
Which of the following is not a superstutnon”
Q) SrgTreR, 28 (o, Beyihio BFRoeD Sk
Believing in Numerology, Birth marks and Lizard scien
B) e, DB, Tr0HHE’ Brren SoHHT D S
Believing that diseases can be cured with Prayer.
Vibhudi and amulets.
%) O ?’.@%ééﬁé DT SBo SHEA dSayEo.

Believing that one should have a son, else, hell after deat!:
8) B0oiB&ED Seren DD K3 ©0AS5H S5 &

Do ([HrdB0 BoHHJ Syso.

““Believing that no day in a calendar has any effect

on our day-today life ( )

29. D[S wedQ HBosol.

Find the odd one out. '

) oeh HRQ Dog fish ) s¢ DR Cat fish

®) 2B A Silver fish &) s&r Catla ( )
30. & (8ob Sr@8S° B DR HBoNe’.

Find the mlssmgﬂgure in the given figure
matrix >




87 Match the following?

3L L Eard afcs Johw oF 382 coted? 36 edSElcs
Which s called the "Amphibians of the plant P) 2955 Vinegar 1) @508 espo Oxalic acid
kingdom? ( ) Q) e Spinach 2) é;;sg espo Tartaric acid
o) ‘_’SZL‘:E&:} Pteridophytes ) (2&>=%<J Bryophytes R) =% Grapes 3) 56 w3o Lactic acid
=~ = . 2 © - . .
&) :\»,,65. <o Gymnosperms &) @».JLE.\:’:’"‘J A{]gxosperrm S) & Milk 1) o985 o Acctic acid
32 4+ @8 X ;f& - ook - o, X - cd - )
- iy : ' - 23,82 D) P-3.Q-2. R-1.54
s ol b 8% 5+12-6:3X8=....2 =) P= Q1 R-3.5 N sl )
+ means x, - means, X means -, -means + ®) P-4.Q-2 R-3.§-1 &) P4Q-L. _:"‘ h "
then 5+ 12-6:3X8=....... ? 37. o5o%0 208 ForSor OHHEe s I3 Hovtn o8H
a) 1 D) 2 &) 5 &) 120 ( ) T ) 250 DeF? Whatis adark funnel shaped
33. =fiob & :f;.,-o e D8End B8 4o’ Zndumr spinning cloud that reaches from sky to the ground called?
C‘JwU.J’F).;.J & L5%? : ’ D) &@5 T\ phOOl’l e -
Who was the first to have used the term, ) %635 Hurricane
‘Scientific Temper’? e e
= g ) &°5)&° Tornado ‘a:-:i”;' ﬁ
e %’; )

&) &od ®Pc Thunder storm gt b . o
38. & (Eob 2 B0%8 e oy oS 3,\)‘6;‘3)3&0 bté)tﬁé.:o
So Boen $8007 Hibven SU8FGhoN 8 dokk?

Which of the following situations does,happen when
a mosquito bat is on that Kills mosquitoes but

Q) 2dFberd JTv D) b Seerdd J8S ) g
Jawaharlal Nchru Sardar Va]labhbhai Patcel not sufficient enough to electrocute humans?
. @ T 8 ()

-, s g
|

ﬁ& = ,..‘ -
} ¥ I l il

nm ) im mv -—-,_,* i OP -ﬁn_, R X

lhl

R) movedd FEE - 8) Sty b 39.56 AR 3¢ ES5R0S° aod Srowe aees a7
Dadabhai Naoroji Mahatma Gandhi (¥ | iopve SlEments@filie following pairs are liquid
34. 858 $o(88 1HoBsen éQ)o& oeES aééoD @e‘i{o gpalréareliq
] at room temperature T o
S5 eren S, SO Sroedl - FETITT | 3y 2 S, S ‘:'i":
Bﬁ‘gcﬁo B8 80 D> Hotwod ?: R, (¢ Mercury, Bromme .
D) FBBILw, ©Br&S Mercury, Iodine

Rohit’s father experienced i ‘
aheart attack. Doctor told him ®) §%5, ©@r&S Chlorine, lodine

that his blood vessels have 41| &) &8, ©@»&S Bromine, lodine )
become narrower. What ' / 40. P88 0E JPS 1THoT0H © %6 SeOPE?
could be the reason for this ?) /| Whoi is theFather ofGreen Revolutlon inIndia?

Q) 8 8BS0 wbE Q)xﬁ)o)méo R
His diet has an excess fiber and water.

D)oED EFBoE® KBS TrarHs® Deooiy, oeren BEDESEO.
His diet lacks proper amount of vitamins and minerals.

Q) 98I 8BS SES sos‘z)‘z;;v@en dBore Hodero.
His diet has an excess of fats and carbohydrates

8) 020 e$508" 583 Arerind® R, SEHTEY TFsto. | D) SES HOAHS D) D0. V. IIES
His diet lacks proper amount of proteins and carbohydrates Verghese Kuriyan M.S. Swaminathan
35.7 058" Yot o vthes® 585 Bogskn 1bGoS0s. 7
Identify the number that fits bestintothe vacant sector shown

by mark, ‘?°.? ‘ ‘ W 48
)

%) S8 ol gooeae 8) 88 SoeR
20 D) 30 Q) 40 &1 ., Har Gobind Khorana Norméan BorTaug « )

0 FBEERS caS“) woded [HB8%s Srtod :
Website : JVVAP.org, Face book page : Jana Vlgnana Vednka AP oaé:O fﬁmﬁo&






